

y^{n+2}
from Leibnitz.

$$y'' = y'(2x+1) + 2y$$

$$w_1 \rightarrow V=1 \quad U^n = y^{n+2}$$
$$V''=0 \quad U^{(n-1)} = y^{(n+1)}$$

$$w_1 = {}^nC_0 \cdot U^n \cdot V + {}^nC_1 \cdot U^{n-1} \cdot V'$$
$$= y^{n+2} \cdot 1 + n \cdot 0 \cdot y^{(n+1)} = y^{n+2}$$

$$w_2 \rightarrow V=2x+1 \quad U^n = y^{n+1}$$

$$V'=2 \quad U^{n-1} = y^n$$

$$V''=0 \quad U^{n-2} = y^{n-1}$$

$$w_2 = {}^nC_0 U^n \cdot V + {}^nC_1 U^{n-1} \cdot V' + {}^nC_2 U^{n-2} \cdot V''$$

$$= y^{n+1} \cdot 2x+1 + n \cdot y^n \cdot 2 + \frac{n \cdot (n-1)}{2!} \cdot 0 + y^{n-1}$$

$$= y^{n+1} \cdot 2x+1 + 2ny^n$$

$$w_3 \rightarrow V=2 \quad U^n = y^n$$

$$V'=0 \quad U^{n-1} = y^{n-1}$$

$$w_3 = {}^nC_0 U^n \cdot V + {}^nC_1 U^{n-1} \cdot V'$$

$$= y^n \cdot 2 + n \cdot 0 \cdot y^{n-1} = 2y^n$$

$$w_1 = w_2 + w_3$$

$$w_1 = w_2 + w_3 = y^{n+2}$$

$$y^{n+2} = y^{n+1} \cdot 2x+1 + 2ny^n + 2y^n$$

$$y^{n+2} = y^{(n+1)} \cdot (2x+1) + 2y^n(n+1)$$

$$y^{n+2} = y^{n+1} (2x+1) + 2 \cdot (n+1) y^n //$$

Olatunbo'sun Barit-o

161ENG041043

ELECTRICAL ELECTRONICS

ENG 381.

Engineering Mathematics.

2) Using Leibnitz theorem.

$$y = x^3 e^{4x} \quad \text{find } y^5.$$

$$v = x^3$$

$$u = e^{4x}$$

$$v^{(1)} = 3x^2$$

$$u^n = 4^n \cdot e^{4x}$$

$$v^{(2)} = 6x$$

$$u^{n-1} = 4^{(n-1)} \cdot e^{4x}$$

$$v^{(3)} = 6$$

$$u^{(n-2)} = 4^{(n-2)} \cdot e^{4x}$$

$$u^{(n-3)} = 4^{(n-3)} \cdot e^{4x}$$

$$y^n = n C_0 \cdot u^n \cdot v^{(0)} + n C_1 + u^{(n-1)} \cdot v^{(1)} + n C_2 + u^{(n-2)} \cdot v^{(2)} + n C_3 + u^{(n-3)} \cdot v^{(3)}$$

$$y^n = 1 \cdot 4^n \cdot e^{4x} \cdot x^3 + n \cdot 4^{(n-1)} \cdot e^{4x} \cdot 3x^2 + \frac{n \cdot (n-1)}{2!} \cdot 4^{(n-2)} \cdot 6x \cdot e^{4x}$$

$$y^n = 1 \cdot 4^n \cdot e^{4x} \cdot x^3 + 3x^2 \cdot n \cdot 4^{(n-1)} \cdot e^{4x} + \frac{n \cdot (n-1)}{2!} \cdot 4^{(n-2)} \cdot 6x \cdot e^{4x}$$

$$+ \frac{n \cdot (n-1) \cdot (n-2)}{3!} \cdot 4^{(n-3)} \cdot e^{4x} \cdot 6$$

$$y^n = 4^n e^{4x} \cdot x^3 + 3n x^2 \cdot 4^{(n-1)} \cdot e^{4x} + n \cdot (n-1) \cdot 4^{(n-2)} \cdot e^{4x} \cdot 3x + n(n-1)(n-2) \cdot 4^{(n-3)} \cdot e^{4x}$$

$$y^n = e^{4x} (4^n \cdot x^3 + 3n x^2 \cdot 4^{(n-1)} + n \cdot (n-1) \cdot 4^{(n-2)} \cdot 3x + n(n-1)(n-2) \cdot 4^{(n-3)})$$

$$y^5 = e^{4x} (4^5 \cdot x^3 + 3 \cdot 5 x^2 \cdot 4^4 + 5 \times 4 \times 4^3 \cdot 3x + 5 \times 4 \cdot 3 \cdot 4^2)$$
$$= e^{4x} (1024x^3 + 3840x^2 + 3840x + 960)$$
$$= 64e^{4x} (16x^3 + 60x^2 + 60x + 15)$$

Show using Leibnitz theorem

$$x^2 \cdot y^{(n+2)} + (2n+1)xy^{(n+1)} + y^n(n^2+1) = 0$$

$$i.) \quad x^2 \frac{d^2 y}{dx^2} + x \frac{dy}{dx} + y = 0$$

$$x^2 y'' + xy' + y = 0$$

$$w_1 \rightarrow \begin{array}{l} v = x^2 \\ v' = 2x \\ v'' = 2 \end{array} \quad \begin{array}{l} u^n = y^{n+2} \\ u^{(n-1)} = y^{n+1} \\ u^{(n-2)} = y^n \end{array}$$

$$w_1 = {}^n C_0 \cdot u^n \cdot v^0 + {}^n C_1 \cdot u^{(n-1)} \cdot v^1 + {}^n C_2 \cdot u^{(n-2)} \cdot v^2$$

$$= y^{n+2} \cdot x^2 + n \cdot y^{n+1} \cdot 2x + \frac{n(n-1)}{2} \cdot y^n \cdot 2$$

$$w_1 = y^{n+2} \cdot x^2 + 2nx y^{n+1} + \frac{n(n-1)}{2} y^n$$

$$w_2 \rightarrow \begin{array}{l} v = x \\ v' = 1 \\ v'' = 0 \end{array} \quad \begin{array}{l} u^n = y^{n+1} \\ u^{n+1} = y^n \\ u^{n-2} = y^{n-1} \end{array}$$

$$w_2 = {}^n C_0 \cdot u^n \cdot v^0 + {}^n C_1 \cdot u^{(n-1)} \cdot v^1 + {}^n C_2 \cdot u^{(n-2)} \cdot v^2$$

$$= y^{n+1} \cdot x + n \cdot y^n \cdot 1 + 0 = xy^{n+1} + ny^n$$

$$w_3 \quad \begin{array}{l} v = 1 \\ v' = 0 \end{array} \quad \begin{array}{l} u^n = y^n \\ u^{n-1} = y^{n-1} \end{array}$$

$$w_3 \rightarrow {}^n C_0 \cdot u^n \cdot v^0 + {}^n C_1 \cdot u^{(n-1)} \cdot v^1$$

$$= 1 \cdot y^n + 0 = y^n$$

$$w_1 + w_2 + w_3 = 0$$

$$0 = x^2 \cdot y^{n+2} + 2nx y^{n+1} + n(n-1) y^n + xy^{n+1} + ny^n + y^n$$

$$0 = x^2 \cdot y^{n+2} + 2nx y^{n+1} + xy^{n+1} + n(n-1) y^n + ny^n + y^n$$

$$0 = x^2 \cdot y^{n+2} + xy^{n+1} (2n+1) + y^n (n^2 - n + n + 1)$$

$$0 = x^2 \cdot y^{n+2} + (2n+1)xy^{n+1} + y^n (n^2+1)$$